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L Answer the following q¥ estinns.

1 write the full form of Telnet.

2 write the full form of IRC

i What are Smileys.

4. What is authorization?
OR

The backbone of IRC is
ja) [RC Server {b) IRC Networks (¢) IRC Client (d) Mone
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5 A telnet session is established by
(a) Word fnr_windnws (b) Outlook express
(¢c) Telnet Client Software (d) None of the above
OR

The most Common terminal Emulation is
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0. provides a convenient

where on the word. h’:

OR ‘

way to access your E-mail Serye, .

Whan is Intranet?

A
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7. The__ operator is used in between the union variable name ang the
name. 1
OR
An int type function?
(a) will not return any thing (b)  will return int value
(e} will return float value (d) None of the adove
Ans. ...
8. Which of the following operation is illegal in structures?
a)] T i i
; D};: l:a:slmg. of atmﬂure (b} Pmmertnvariuhleufsanwmmn
- amic allocation of memory {(d) All of the above.
9. Aunioncanbeg member of a
ABE. oiunnmnrnsionmnsnn s ronryen.
10.  What is a function?
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1. In search each element of an array element is compared one by one
with the given item.
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12.  What is Sorting”
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13,  Size of array must be a / an value.
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18,  What is Mews Servers. Discuss,
OR

What is Chat Servers.
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19. Whymmhyl-ﬂm?mm a Structure and Unions.
OR .
What is modular programming? :
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iL Answer any one of the following. (1= 20=211)

21. Explain the sturcture of a functicn. Explam
{a) Retam Type {b] Function Name
(¢} Arguments {d)] Faramelers.
LRAES
What is Telnet? Write the steps 1o establish telnet correction? Explain.
0R
Explain Bubble 5o and Selection Sodl.
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